Polebox Compact
E-no: 2700412
Assembly Instructions

All electrical installation work must be carried out by an authorized installer and meet

Preparing the installation

We recommend that the Polebox Compact is
assembled and as ready as possible before
the installation on site.

Polebox consists of:

Méx16 A2-70 8pcs
Washer A2 4 pcs
Washer A2 8 pcs
M6 Nuts A2 7 pCs Next Green AB

Sides  1lassy

Roof  1pcs
Bottom 1 assy

www.nextg reen.se

the installation requirements in the country of use. Brudtallsvégen 14 info@nextgreen.se
792 32 MORA
. 3 4,5
'I Cable connection 2 Pole mounting
. | =) 2 o @ @ & @
1. Connect the component holders earth point to one —

wn

v s

of the sides.

Connect PE blocks with a proper wire.

When using RCCB/RCBO connect PE from the
chargers direct to the PE block.

Connect them to the distribution block.

Connect the component holders earth point to one
of the sides.

If no RCCB/RCBO is used, connect the chargers
direct to the distribution block.

Use cables/wires with proper length. The
cables/wires has to be long enough so the sides
can be lifted up on the hooks during the mount on
the pole.

All wires/cables must be secured with cable ties tc
the component holder and the sides must be able
to be lifted up and hooked.

1. Mount the clamp with M8x20 screws and washers.
Do not tighten yet.

Put the sides on the bottom parts hooks.

Place the unit on top of the pole. Be careful with

wnN

ﬂ {—

= =) incoming cable.

Adjust the direction, tighten the clamp.
Connect the incoming cable to the distribution
block.

v A

6. Lower the sides and fasten it with 4 MC6S-Méx16
and washers.

7. Mount the cover. Use the sheet metal screws.

8. When the chargers are tested and working
properly, mount the roof.

AN

Accessories: Mounting plates. Order separately

1 7

&
r

(.
g

\

E-no: 27 004 50 - Tackpldt  E-no: 27 00413 - E-no: 27004 51 -
Blank (without holes) Mounting plate CA Halo  Mounting plate Easee

E-no: 27 012 86 -

Mounting plate Luna

~1

» §
~
0%
B o "
/ /
W
N ¥
E-no: 27 004 53 — E-no: 27 004 52 - E-no: 27 004 58 -

Mounting plate Copper SB Mounting plate WB Pulsar Mounting plate Zoptec—Gg




Polebox Compact

Innan montering:

Polebox innehdller Skruvsats

(&

. Huv 1st M6x16 A2-70 8 st
E-nr: 2700412 . . Virekommenderar att Polebox Tak 1st Taggbricka A2 4 st
Monterli ngsanvisning Compact forbereds och gors klar med Underdel 1st Planbricka A2 8St | extGreenAB www.nextareen
Allt installationsarbete maste utféras av en auktoriserad installatér och uppfylla laddboxar innan installationen pa faltet Mé Sexkantsmutter A2 7st Bfudtallzségen 14 info@antng:n:§:
installationskraven i anvandningslandet. SE-79232MORA Tel: +46 25050 39 90
SWEDEN
( N\
. 1,2 3 4,5 ]
II Kabeldragning . 2 Stolpmontering
. . = & el @ &l e @ @i
1. Byglamellan jordplintarna. —
2. Drakabel fran plint till jordpunkt. Skruva pa ! 1. Montera overfallet pa klamfastet med 4 st
mutter och Iasbricka p& jordpunkten. i M8x20 skruv och brickor. Dra inte at 4n
3. Montera eventuella jordfels / personskydds - 2. Satt huven pa upphaket.
brytare. OBS! Sikerstill att din JFB kan monteras 3. Montera Polebox pa stolproret. Hall ordning pa
horisontellt = = = = inkommande kabel.
4. Drakabel fran plint till JFB. e © i e 4. Riktain Poleboxen, dra at klamfastet.
5. Drajordledning mellan komponenthallarens ol | [e o o 5. Kopplaininkommande kabel pa plinten.
jordpunkt och en av sidorna. 6. Lyft ner huven och skruva fast den med 4 st
6. Ominte JFB monterats. Koppla in kablarna till MC6S-Mé6x16 och brickor.
laddarna pa plintens ovansida. 7. Montera petskyddet.
7. Montera lagom langa kablar till laddboxen. Dessa 8. Naérladdboxarna dr testade och fungerar,
ska racka till plinten eller eventuella JFB nar montera taket.
huven ar avlyft fran underdelen.
8. Allakablar buntas fast i komponenthallaren.
Huven ska kunna lyftas utan att kablarna hakar i.
e
(=]
A J
( N
Tillbehér: Montageplétar med skruv bestdlls separat.
¥ »
y » ¥
5 » w
< Do
O ® O A
o / /
/ » / i
E-nr: 27 004 50 - téckplét E-nr: 27 00413 - E-nr: 27 004 51 — E-nr: 27 012 86 - E-nr. 27 004 53 - E-nr:27004 52 - E-nr:27 004 58 —
Blank (utan hal) Montagepldt CA Halo Montagepldt Easee Montagepldt Luna Montageplat Copper SB Montagepldt WB Pulsar  Montagepldt Zaptec-Go

J




	Bild 1: Polebox Compact E-no: 2700412 Assembly Instructions All electrical installation work must be carried out by an authorized installer and meet the installation requirements in the country of use.
	Bild 2: Polebox Compact E-nr: 2700412 Monteringsanvisning Allt installationsarbete måste utföras av en auktoriserad installatör och uppfylla installationskraven i användningslandet.

